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3

İNGİLİZCE TESTİ
Bu testte 80 soru vardır.

1-8. sorularda cümlede boş bırakılan yerlere 
uygun düşen sözcük veya ifadeyi bulunuz.

1.	 While some experts attach credence to a utopian 
future, others argue that human beings will 
eventually ---- most of their abilities and gradually 
become absorbed into artificial intelligence-based 
organisms such as the energy-creating machinery 
in our cells.

A) acquire 	 B) strengthen 	 C) consolidate

	 D) relinquish	 E) abound

2.	 Since COVID-19 outbreak, World Health 
Organisation has offered some measures that 
countries might consider adopting are: closures 
of schools and universities, ---- of remote working 
policies.

A) cancellation 	 B) implementation 	 C) annulment

	 D) removal	 E) investigation

3.	 Online learning used to be regarded somewhat  
----, yet the quality of online courses such as EBA 
courses have come a long way since then.

A) inferior 	 B) splendid 	 C) extreme

	 D) supreme	 E) amazing

4.	 Research suggests that exercise can treat 
depression ---- because it is a natural mood 
booster and releases feel-good hormones.

A) reciprocally	 B) independently

C) deliberately	 D) consistently

	 E) effectively

5.	 Students ---- the knowledge and understanding 
they have acquired during their high school years 
to be successful at high stake exams like YDT.

A) account for 	 B) bring about	 C) draw on

	 D) grapple with	 E) take up 

6.	 Organ transplantation has been a breakthrough in 
saving people’s lives as it ---- a medical procedure 
in which an organ ---- from one body and placed 
in the body of a recipient, to replace a damaged or 
missing organ.

A)	was / had been removed 

B)	 is / is removed

C)	had been / will be removed 

D)	will be / was removed

E)	 is / has been removed
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7.	 As the Hawthorn effect means that people tend to 
behave differently when they believe they  
----, researchers ---- this into consideration as they 
design their studies.

A)	are being observed / must take 

B)	were observed / had to take

C)	are observed / must have taken 

D)	had been observed / should have taken

E)	will be observed / could have taken

8.	 In terms of sheer size, the Antarctic Desert is the 
largest desert on Earth, ---- a total of 13,8 million 
square kilometres.

A)	 to have measured 

B)	 having been measured

C)	to measure

D)	measuring

E)	 having measured

9-15. sorularda cümlede boş bırakılan yerlere 
uygun düşen sözcük veya ifadeyi bulunuz.

9.	 In 1789, the complicated administrative system of 
the ancien régime in France was swept ---- by the 
National Constituent Assembly, which substituted 
a rational system based ---- the division of France 
into départements (i.e. departments).

A) along / on	 B) away / upon	 C) off / in

	 D) across / for	 E) through / within

10.	 ---- being bilingual, you can travel to any foreign 
place and communicate better ---- the natives.

A) With / with	 B) At / among	 C) In / between

	 D) By / with	 E) For / towards

11.	 ---- some scholars argue that cell phones can 
help children learn sense of responsibility, it is 
possible for cell phones to be very distracting from 
important events in a child’s life such as studying.

A) Because 	 B) Only if 	 C) Whereas

	 D) Assuming that 	 E) According to

12.	 Newborn lion cubs are dependent on their mothers 
and remain in their care for approximately two 
years. ----, this maternal care is not very careful, 
and lionesses may leave their cubs alone for an 
entire day.

A) However 	 B) Albeit	 C) Thereby

	 D) Additionally 	 E) On the contrary
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13.	 ---- attempt has been made to create a 
comprehensive listing of the gods and goddesses 
of ancient Egypt which is derived from ---- works.

A) Whole / much	 B) Every /many	 C) Some / other

	 D) One / each	 E) Other / all

14.	 When comparing the hottest cities in the world, 
it’s fair to say that no city is ---- extreme ---- Yuma, 
which has extremely hot summers, hot winters and 
often less than 10 inches of precipitation per year.

A) such / that	 B) both / and	 C) so / that

	 D) the most / of	 E) as / as

15.	 Many earlier Romanesque churches had stained 
glass windows, and many had round windows, 
called oculi, but these windows were necessarily 
small, ---- the thickness of the walls.

A) therefore 	 B) as well as 	 C) rather than

 	 D) in spite of 	 E) on account of

16-20. sorularda aşağıdaki parçada 
numaralanmış yerlere uygun düşen sözcük veya 
ifadeyi bulunuz.

World hunger refers to hunger aggregated to the 
global level. Related terms include food insecurity 
and malnutrition. Food insecurity refers to limited or 
unreliable access to foods that are safe and  
(16)---- adequate. Malnutrition is a condition 
resulting from insufficient intake of biologically 
necessary nutrients. (17)---- malnutrition includes 
both overnutrition and undernutrition, the focus for 
global hunger is undernutrition. There are two basic 
types of malnutrition / under-nutrition. The first 
and most important is protein-energy malnutrition 
(PEM), or a lack of calories and protein. Food is 
converted (18)---- energy by humans, and the 
energy contained in food is measured by calories. 
Protein is necessary for key body functions, 
including the development and maintenance of 
muscles. Protein-energy malnutrition is the more 
lethal form of malnutrition/hunger and is the type 
of malnutrition that is referred to when world 
hunger (19)----. This leads to growth failure. The 
second type of malnutrition is micronutrient (vitamin 
and mineral) deficiency. This is not the type of 
malnutrition that is referred to  
(20)---- world hunger is concerned, though it is 
certainly very important.

16.	

A) nutritionally 	 B) emotionally 	 C) interestingly 

	 D) consciously	 E) willingly

17.	

A) Nonetheless 	 B) Even though	 C) Since

	 D) So 	 E) Similarly

18.	

A) on	 B) for 	 C) into

	 D) from 	 E) through 
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19.	

A) was discussed	 B) has been discussed

C) will be discussed	 D) is discussed

	 E) would be discussed

20.	

A)	 such as 

B)	 as a consequence of

C)	much as 

D)	as well as

E)	 as far as

21-28. sorularda verilen cümleyi uygun şekilde 
tamamlayan ifadeyi bulunuz.

21.	 Due to ever present and growing globalisation and 
immigration which represent the nature of current 
world, ----.

A)	monoglot people who are conservative mostly by 
nature are preferred

B)	 polyglot people are accepted as the norm to make 
communication possible

C)	multilingualism signifies to be able to command 
more than two languages

D)	in most of the countries, monoglot people outweigh 
the polyglot people

E)	 definition of bilingualism seems to remain stable 
and static

22.	 Having destroyed buildings in Dallas and cut 
electricity to tens of thousands of people, ----.

A)	a tornado is a dangerous storm system, with 
damaging winds and large hail

B)	 a tornado moved east, and killed a man in Arkansas

C)	authorities blamed the violent weather for at least 
four deaths

D)	a weather presenter told stormy weather would 
continue across the mid-South on Monday

E)	 local people in Dallas felt relieved despite the huge 
damage caused by a tornado

23.	 ---- about improving your life is remembering 
to practice what you’ve learned in a moment of 
temptation, frustration, or hardship.

A)	Scientist of psychology are curious

B)	The simplest thing you’ll learn 

C)	One of the hardest things

D)	You have to learn and practice 

E)	She has lots of research 

24.	 Although Tesla succeeded lots of scientific studies, 
----.

A)	he began revolutionary advances in physics, 
engineering, and electronics

B)	 according to the official records, he had at least 278 
patents for his inventions

C)	for some people, he has been the most successful 
scientist in the world

D)	he had been incompetent as a businessman 
because of his introvert personality

E)	 he dedicated his inventions and studies to humanity
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25.	 Even though the two men have different ideas on 
the human rights, ----.

A)	 it doesn’t seem to manage it for him

B)	 they couldn’t agree on the subject

C)	unemployment is a big problem for the people 
nowadays

D)	people with mental disabilities are disadvantaged 
groups

E)	 their views about freedom of thought are the same 

26.	 No matter how hard I tried, ----.

A)	 I enjoyed myself very much at the party

B)	 I wasn’t able to solve the problem by myself

C)	they would learn a foreign language quickly

D)	it was possible for me to sell his house

E)	 so, I placed an advertisement in the newspaper 

27.	 ----, the trend of inflation is still upwards.

A)	While the other parties criticised the way, they deal 
with the economic problems

B)	Unless it is two times less than it is in 
underdeveloped countries

C)	Even though the workers have been demanding 
more increase in their payments

D)	Since the cost of living showed a tendency to 
decrease

E)	Although the government made an effort to pull the 
inflation rate down 

28.	 The ending of the war is not a reason for 
celebration, ----.

A)	 though quite a lot of people had died in the war

B)	 no matter what measures are taken against 
violence

C)	as the achievements of the war are greater than 
expected

D)	but rather it is a reason for regret that it ever 
happened

E)	whereas from a military point of view, it must be 
called a failure
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29-31. soruları aşağıdaki parçaya göre 
cevaplayınız.

Bootstrapping has a strong link to connectionist 
theories which model human cognition as a 
system of simple, interconnected networks. In this 
respect, connectionist approaches view human 
cognition as a computational algorithm. On this 
view, in terms of learning, humans have statistical 
learning capabilities that allow them to problem 
solve. Proponents of statistical learning believe 
that it is the basis for higher level learning, and that 
humans use the statistical information to create a 
database which allows them to learn higher-order 
generalizations and concepts. For a child acquiring 
language, the challenge is to parse out discrete 
segments from a continuous speech stream. 
Research demonstrates that, when exposed 
to streams of nonsense speech, children use 
statistical learning to determine word boundaries. 
In every human language, there are certain sounds 
that are more likely to occur with each other: for 
example, in English, the sequence is attested, but 
the sequence is not. It appears that children can 
detect the statistical probability of certain sounds 
occurring with one another, and use this to parse 
out word boundaries. Utilizing these statistical 
abilities, children appear to be able to form mental 
representations, or neural networks, of relevant 
pieces of information.

29.	 What can be inferred from the passage about 
human cognition based upon connectionist 
theories?

A)	Human cognition has a complex algorithm which is 
unable to solve problems.

B)	Simple as human cognition is, it has independent 
networks which are completely apart.

C)	Human cognition possesses a plain as well 
as intertwined networks considered as having 
statistical properties.

D)	Children intermittently employ streams of nonsense 
speech to decode word boundaries thanks to simple 
human cognition.

E)	Bootstrapping views human cognition as a 
rudimentary system lacking statistical learning.

30.	 Which statement is true about higher-order 
generalizations?

A)	Determining word boundaries is contingent on being 
exposed to streams of nonsense speech.

B)	Being deprived of the language in the society 
enables one child to distinguish some sequences.

C)	Those who support statistical learning suggest that 
children have no difficulty in parsing out different 
segments.

D)	Statistical probability undermines the creation and 
development of high-order generalizations as well 
as concepts.

E)	Statistical information is utilized to form a database, 
thanks to which making higher-order generalizations 
is possible. 

31.	 What is the passage mainly about?

A)	How the connectionist theories view human 
cognition.

B)	Parsing out some segments is cumbersome for 
children.

C)	Certain sounds are possible in some languages but 
not all.

D)	Why bootstrapping differs from statistical learning 
capability.

E)	Proponents and opponents of forming mental 
representations.
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32-34. soruları aşağıdaki parçaya göre 
cevaplayınız.

Alzheimer’s is the most common cause of 
dementia, a general term for memory loss and 
other cognitive abilities serious enough to interfere 
with daily life. Scientists believe Alzheimer’s 
disease prevents parts of a cell’s factory from 
running well. As damage spreads, cells lose their 
ability to do their jobs and, eventually die, causing 
irreversible changes in the brain. Alzheimer’s 
disease accounts for 60 percent to 80 percent 
of dementia cases. Alzheimer’s is not a normal 
part of aging. The greatest known risk factor is 
increasing age, and the majority of people with 
Alzheimer’s are 65 and older. Alzheimer’s worsens 
over time. Alzheimer’s is a progressive disease, 
where dementia symptoms gradually worsen over 
a number of years. In its early stages, memory loss 
is mild, but with late-stage Alzheimer’s, individuals 
lose the ability to carry on a conversation and 
respond to their environment. Alzheimer’s has 
no current cure, but treatments for symptoms are 
available and research continues. 

32.	 According to the passage, cells fail to perform 
properly since ----.

A)	 scientists think that Alzheimer’s disease, as it 
progresses, leads to mild damage on the cells

B)	 newly produced treatments for Alzheimer’s disease 
will be tested in a number of research

C)	it is argued to be among the core reasons for 
dementia which is also known as memory loss

D)	Alzheimer’s disease initially damages a cell’s 
factory and the resulting damage gradually expands

E)	daily life practices are mediated by means of the 
cognitive abilities’ proper functioning

33.	 According to the passage, which of the following is 
true?

A)	All of the scientists agree that Alzheimer’s disease 
leads to complete breakdown in the cells’ structures.

B)	Alzheimer’s disease comprises three to four fifths of 
the cases which are related to dementia.

C)	As people age, they normally develop Alzheimer’s 
disease, which is commonplace for the elderly.

D)	Alzheimer’s disease leads to difficulty in talking and 
giving responses to the environment in its initial 
phase.

E)	 It is possible to state that scientists have already 
developed a treatment for Alzheimer’s disease.

34.	 What is the author’s primary purpose in this 
passage?

A)	To explain why some scientists, although 
unsuccessful, have conducted a number of 
research.

B)	To emphasize the significance of research in order 
to get rid of Alzheimer’s disease.

C)	To inform us about the reasons behind Alzheimer’s 
disease and its development.

D)	To illustrate the treatments which have been 
developed in order to cure Alzheimer’s disease.

E)	To compare and contrast Alzheimer’s disease with 
the other dementia-related diseases.
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35-37. soruları aşağıdaki parçaya göre 
cevaplayınız.

The Lakota people or the people of Standing 
Rock are one of the first original Native American 
tribes who inhabited the North Americas before 
the arrival of Europeans. The Lakota people were 
a founding group of the seven council fires which 
consisted of seven tribal bands; four Dakota bands, 
two Nakota bands and a Lakota band. They also 
are considered the largest division of the great 
Sioux and have seven subdivisions. In the late 
17th century, the Lakotas who were living in the 
upper Mississippi region were forced to the Great 
Plains on the west of Mississippi and then to South 
Dakota due to the tribal wars occurred over the fur 
trade. The Lakota is a very strong and fierce tribe 
with legendary warriors and the battles and treaties 
that took place between the Lakotas and the United 
States’ Government also have a long and popular 
history. At present, the Lakota people inhabit five 
major reservations in the western Dakota Region.

35.	 What is true about the Lakota people?

A)	They inhabited the North Americas as soon as 
Europeans arrived.

B)	They continue to live in upper Mississippi region 
and the Great Plains.

C)	They are the first original Native American tribes 
inhabiting the North Americas.

D)	They form the biggest division of the Great Sioux 
and possess seven sub- divisions.

E)	They had to migrate due to wars with the United 
States’ Government over the fur trade.

36.	 According to the passage, the Lakota people of 
today ----.

A)	 inhabit the west of Mississippi

B)	want to have battles with the United States

C)	are unwilling to have treaties with the United States

D)	live in the western Dakota Region

E)	 are forced to leave the upper Mississippi region

37.	 The main purpose of this passage is to ---.

A)	explain why the Lakota people fought against the 
United States

B)	 give some information about the Lakota people

C)	talk about why the Lakota people have legendary 
warriors

D)	refute the prejudice about the Lakota people

E)	 support the idea that Lakota people have a popular 
history

38-40. soruları aşağıdaki parçaya göre 
cevaplayınız.

Housebound due to the coronavirus threat, 
Turkish students have opted for online education, 
while dealing with fatigue and boredom due to a 
lack of outdoor activities. Turkey has launched its 
distance learning platform that will serve nearly 
20 million primary and high school students who 
have been at home since schools shut on March 
12 considering the coronavirus pandemic. Turkey’s 
public broadcaster, Turkish Radio and Television 
Corporation (TRT), has allocated five studios in 
Istanbul and three studios in Ankara for recordings 
that are aired through six different channels in 
HD and SD. Distance learning has become a 
necessity in times of coronavirus. The government, 
according to Gokhan Yucel, advisor to the Minister 
of Education, “reacted to global pandemic within 
a week and created video lessons supported 
with EBA, which is currently one of the world’s 
most advanced state-sponsored online learning 
platforms.”

38.	 What can be inferred from the passage?

A)	The coronavirus threat forced the students to 
consider outdoor activities.

B)	TRT has provided some studios so as to record 
lessons.

C)	EBA failed to create video lessons due to a lack of 
activities.

D)	Five different channels in HD broadcast the video 
lessons.

E)	Turkish students dislike distance learning being a 
necessity nowadays.
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39.	 Which statement is true about the online education 
in Turkey?

A)	EBA is without doubt the world’s most developed 
online learning platform.

B)	EBA delayed reacting on time and failed to support 
video lessons.

C)	Almost 20 million primary and high school students 
receive online education service.

D)	Turkey should have initiated the distance learning 
platforms after schools shut.

E)	Because of coronavirus threat, online education in 
Turkey had to cease.

40.	 What is the passage mainly about?

A)	How EBA will be advanced in cooperation with the 
state.

B)	Problems which are caused by coronavirus threat.

C)	TRT studios used for recordings in Ankara and 
İstanbul.

D)	The Minister of Education and the advisor, Gokhan 
Yucel.

E)	Online education service received by Turkish 
students.

41-43. soruları aşağıdaki parçaya göre 
cevaplayınız.

The coronavirus outbreak has been labelled 
a pandemic by the World Health Organization 
(WHO). A pandemic describes an infectious 
disease where we see significant and ongoing 
person-to-person spread in multiple countries 
around the world at the same time. The last time 
a pandemic occurred was in 2009 with swine flu, 
which experts think killed hundreds of thousands 
of people. Pandemics are more likely if a virus is 
brand new, able to infect people easily and can 
spread from person-to-person in an efficient and 
sustained way. Coronavirus appears to tick all of 
those boxes. With no vaccine or treatment that 
can prevent it yet, containing its spread is vital. 
Changing the language does not change anything 
about how the virus is behaving, but the WHO 
hopes it will change how countries tackle it. Doctor 
Tedros said: “Some countries are struggling with a 
lack of capacity. Some countries are struggling with 
a lack of resources. Some countries are struggling 
with a lack of resolve.” He added that the WHO 
was asking all countries to: a) activate and  
scale-up emergency response mechanisms,  
b) communicate with people about the risks and 
how they can protect themselves, c) find, isolate, 
test and treat every COVID-19 case and trace 
every contact.

41.	 It is understood from the passage that a pandemic 
----

A)	 is an infectious disease which has certain 
characteristics and spreads world-wide.

B)	 spreads rapidly even if vaccine and/or treatment is 
provided.

C)	causes hundreds of thousands of people to change 
their locations.

D)	can be defined as a specific disease which is 
characteristically confined to one region.

E)	 enables World Health Organisation to define and 
take the necessary precautions.
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42.	 According to the passage, Doctor Tedros ----

A)	highlighted the problems faced by certain countries 
in order to deal with the coronavirus.

B)	 called for immediate action so that WHO could 
solve the coronavirus - related problems.

C)	emphasized that lack of resources and capacity is 
the common problem all around the world.

D)	claimed that changing the language meant nothing 
while struggling with a pandemic.

E)	 refused to obey the suggestions by the World 
Health Organisation due to their inefficiency.

43.	 It can be concluded from the passage that World 
Health Organisation requests all countries to ----

A)	encourage people to come together so that they 
can talk how to protect themselves.

B)	 slow down the emergency response mechanisms in 
order to avoid mistakes.

C)	take the necessary precautions to prevent isolation 
and communication.

D)	enable people to move from one place to another in 
a fast and sustainable way.

E)	 detect every COVID-19 case and isolate by tracing 
each contact.

44-48. sorularda karşılıklı konuşmanın boş 
bırakılan kısmını tamamlayabilecek ifadeyi 
bulunuz.

44.	 Sam	 :	� Do you have a ladder I could borrow?

Andrew	 :	 Well, yes, but I need to fix the roof today.

Sam	 :	 ----

Andrew	 :	� Sure. I’ll bring it to you when I’ve finished 
with it.

A)	Oh, don’t you think you should hire a professional 
for that?

B)	Are you sure you don’t need help with that?

C)	Would you mind starting that a little later as my job 
is urgent?

D)	Do you know where Brian will go tomorrow?

E)	Could I possibly use it tomorrow?

45.	 Tom	 :	 Where is my backpack?

Jenny	 :	 I don’t know. Where did you leave it?

Tom	 :	 ----

Jenny	 :	 Are you sure?

Tom	 :	 Of course, I’m sure! I bet someone stole it.

Jenny	 :	 Well, you should have kept an eye on it.

A)	Thanks. It won’t be long. I’ll be right back.

B)	 I just put it on the chair a while ago, but now it’s 
gone.

C)	Sure. But hurry. The line is moving fast.

D)	I’m sure you can save my place for me.

E)	Excuse me, but I can’t do you a favour.

46.	 John	 :	� Can you look for a good spot to put the tent 
up, Oscar?

Oscar	:	 ----

John	 :	 Well, let’s have a look, shall we? Come on! 

Oscar	:	 Okay. Let’s see then.

A)	 I’ve never put up a tent on a hill.

B)	However, will there be enough place in the tent for 
ten people?

C)	Is that hill high enough for climbing?

D)	Yes, I have already found a good place.

E)	There has never been a suitable place for camping.
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47.	 Dominic	 :	� I can’t believe how sore I felt after playing 
just one game of football yesterday.

Frederick	 :	 ----

Dominic	 :	� I’m sure you’re right, but I simply don’t 
have the time nowadays.

Frederick	 :	� Well, I guess you’ve either got to find the 
time or live with the pain.

A)	Really? I feel fine except that I’m a bit tired having 
spent hours at the club after the match.

B)	 I know what you mean. I felt as if I had run a 
marathon and been run over by a couple of cars.

C)	Maybe we should try to play football more often it is 
a lot of fun even if it does hurt the next day.

D)	If you exercised regularly, a little physical exertion 
wouldn’t cause you so much discomfort.

E)	 I’m in a lot of pain myself. I’m glad the game was 
only an hour and not 90 minutes.

48.	 Jim	 :	� You look tired. Haven’t you been sleeping 
properly?

Gerry	 :	� Not really. We’ve got new neighbours and 
they seem to have parties every night.

Jim	 :	 ----

Gerry	 :	� I would, but they always start when I’m in 
bed and I can’t be bothered to get up again!

A)	 It would be nice if people were more considerate.

B)	Why don’t you go and complain?

C)	I don’t suppose you’d mind if they invited you, would 
you?

D)	I’d love to be able to have parties every night!

E)	Well, I think you’re stupid to put up with it.

49-53. sorularda verilen cümleye anlamca en 
yakın cümleyi bulunuz.

49.	 It is possible that she couldn’t concentrate on 
the exam questions yesterday because of her 
headache.

A)	Yesterday, she was so well that she was able to 
solve exam questions easily.

B)	She used to solve questions easily, but she didn’t 
understand anything at the exam due to her 
headache.

C)	She might not have focused on the exam questions 
yesterday since she had a headache.

D)	She couldn’t take an exam yesterday because she 
had a headache.

E)	Yesterday, exam program must have been 
cancelled because of the teacher’s health problem.

50.	 By Tina Turner’s own admission in her 
autobiography, working with Phil Spector made her 
feel like a professional for the first time.

A)	 It was the first time Tina Turner rejected that she felt 
like a professional while writing her autobiography 
with Phil Spector.

B)	 It was the first time Tina Turner felt like a 
professional when she worked with Phil Spector, 
which she admits in her autobiography.

C)	In her autobiography, Tina Turner admitted that 
working with Phil Spector professionally for the first 
time was something she liked.

D)	Tina Turner liked the idea of working with Phil 
Spector for the first time when she admitted that felt 
like professional in her own autobiography.

E)	Tina Turner admitted that she liked working with 
professionals like Phil Spector in her own biography.
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51.	 Due to the fact that the demand for coffee is very 
high, there are many coffee shops in each city.

A)	Everybody has a coffee shop in their city.

B)	Nobody demands such a lot of coffee shops in their 
city.

C)	The demand for coffee is so high that every city has 
a lot of coffee shops.

D)	Although coffee is so expensive, there are many 
coffee shops in every city.

E)	Everybody wants to drink coffee, so you can find a 
coffee shop in every city.

52.	 My father won’t get his car repaired there again 
because they charged him far too much.

A)	My father was sure that it was the most expensive 
service.

B)	My father should have asked them how much they 
charged.

C)	Getting his car repaired was very cheap, so my 
father will not go there again.

D)	My father wouldn’t have them repair his car if he 
had known how much they would charge.

E)	 It cost my father so much to get his car repaired 
there that he will never go back there again.

53.	 Tom wrote plenty of reports for his project, but he 
thought none of them were appropriate.

A)	There were lots of reports which were written by 
Tom for his project, but in his opinion, none of them 
were suitable.

B)	Tom thought that he had written many reports for 
his project and they all had been very valuable.

C)	A lot of reports which were written by Tom for his 
project were suitable.

D)	Tom didn’t think that most of the reports that he 
wrote were appropriate.

E)	Tom thought that very few of reports were 
appropriate for his Project.

54-58. sorularda verilen durumda söylenmiş 
olabilecek sözü bulunuz.

54.	 As the public relations director of a clothing 
company you are concerned about the recent drop 
in sales and feel this is due partly to the quality of 
the clothes but mostly to inadequate advertising. 
At the board meeting you want to draw attention 
to the seriousness of the situation and insist that 
a new and dynamic advertising campaign must be 
launched to boost sales. You say: ----

A)	 I’m hoping that the drop-in sales will be easily 
remedied by an increase in advertising.

B)	 I would like to point out to you all that the recent 
drop in sales is likely to be of short duration; so, the 
present level of advertising can continue.

C)	Obviously, the poor quality of our clothes is at fault, 
so we need to improve our production methods.

D)	The drop-in sales is certainly discouraging, so let’s 
allocate more money for further advertising.

E)	To my mind, the company’s performance in sales 
is most disquieting and a vast advertising drive is 
urgently required.

55.	 A friend has invited you to the opening of her 
exhibition. You dislike opening nights because 
they are noisy and crowded. You turn down the 
invitation in a way that won’t make her feel hurt 
and say: ----

A)	Are you expecting a large crowd? Because you 
know I can’t stand being in a large crowd.

B)	 I won’t. I am not into this kind of events. I do not 
think I will enjoy such a noisy activity.

C)	Sorry. I am working late all next week, so it looks as 
if I’ll have to give this exhibition a miss.

D)	As you know, I hate being packed opening nights 
and it is impossible for me to join.

E)	Thanks for the invitation to your opening. I had 
planned to attend, but something cropped up at the 
last minute and I forgot about it.
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56.	 One of your patients is seriously ill and really 
ought to be in hospital, but the family want to keep 
him at home. You agree but before leaving the 
house you say: ----

A)	Should his condition change noticeably, be sure to 
call me at once.

B)	He’s improving nicely. I’ll call again when I’m in the 
neighbourhood.

C)	Cases of this sort do not require constant medical 
attention.

D)	Basically, he has a sound constitution so don’t 
worry.

E)	He ought to be well enough to get up a little 
tomorrow.

57.	 You are meeting a friend in London and want to 
choose a suitable meeting place. As your friend 
doesn’t know London well you need to fix a 
meeting place she’ll be able to find easily. And as 
the weather is cold, you want it to be indoors. After 
a moment’s thought, you say: ----

A)	The easiest way to get to anywhere in London is to 
take the Underground. The stations are all clearly 
labelled.

B)	The best and easiest place where we can meet is 
the British Museum, which is not difficult to find.

C)	What would you like us to do? We could look round 
a museum if you’d like to or go for a walk in Hyde 
Park.

D)	There are special buses in London that take you on 
a tour of the city. Let’s get on one of those.

E)	 It’s not easy to meet someone in any of the big 
stores. They really are huge, and they keep moving 
the departments around.

58.	 Your sister has announced that she is going to be 
married at the end of the year. You’ve heard plenty 
about the young man, and all to his credit. So, you 
are quite happy about the marriage, but still you do 
want to meet him first. You say: ----

A)	This is all rather sudden, isn’t it? What does he do 
for a long living?

B)	Well, this is a surprise. Tell me all about him.

C)	I hope you’re not acting impulsively! Is there 
something you’re trying to hide as we still haven’t 
met him.

D)	I’m so glad I know you’ve made an excellent choice 
and you certainly deserve to be happy.

E)	Well, congratulations and all my best wishes. But 
I do hope you’ll bring him round to meet us before 
the wedding.

59-63. sorularda boş bırakılan yere, parçada 
anlam bütünlüğünü sağlamak için getirilebilecek 
cümleyi bulunuz.

59.	 With the change of the seasons, animals migrate in 
search of food, water and for mating. Regardless 
of the length of the distance, they use some 
special methods of navigation to find their ways. 
---- For example, light pollution can cause the 
disorientation of photophilic animals that follow 
light.

A)	Experiments resulted in proving the help of solar 
navigation in animal migration.

B)	Unfortunately, the ability of navigation may be 
affected by human activity adversely.

C)	The light at sunrise and sunset can have special 
impact on the calibration of animals’ natural 
compasses. 

D)	Scientist Karl von Frisch showed that honey bees 
rely on the movement of the sun to navigate.

E)	As a highly visible source of light, the sun provides 
reliable compass guidance to those that can adjust 
their position.
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60.	 Professor Cooper has divided successful people 
into two categories: the entrepreneurs and the 
intrapreneurs. The former often leaves school 
early, and has several business disasters. They 
have awkward personalities, but they are very 
determined. ---- They are the children everyone 
thought would do well. They are good organisers 
and get on well with people.

A)	At school, we are told that gaining knowledge is all 
that we need to do well in the society.

B)	There are many courses and self-help manuals 
available to help you reach the top.

C)	Success does not happen by accident.

D)	Other studies show there is little connection 
between how well children do at school and the 
success they achieve as adults.

E)	The latter, however, has risen up through the levels 
of organisation.

61.	 George Orwell was a novelist who was famous for 
his novels “Animal Farm” and “Nineteen Eighty-
Four.” ---- In 1944, Orwell completed Animal Farm, 
a political fiction based on the tale of the Russian 
Revolution and its disloyalty by Stalin. In 1949, he 
finished Nineteen Eighty-Four as a warning after 
years of incubation about the danger of Nazism 
and Stalinism.

A)	He worked as an Indian imperial police between 
1922 and 1927.

B)	He was a man of strong views related to some main 
political movements.

C)	After resigning the India Imperial Military Unit, he 
strove at his writing career.

D)	He wrote a lot of essays and reviews over the years 
during his life.

E)	Between 1941 and 1943 he worked for the British 
Broadcasting Corporation. 

62.	 COVID-19 is the disease caused by the new 
coronavirus that emerged in China in December 
2019. COVID-19 symptoms include cough, fever, 
shortness of breath, muscle aches, sore throat, 
unexpected loss of taste and smell, and headache. 
---- So, people have to take it seriously and 
remember that the new coronavirus can be spread 
from person to person easily. It is diagnosed with a 
laboratory test and there is no coronavirus vaccine 
yet.

A)	COVID-19 can be severe and some cases have 
caused death.

B)	 Investigations are ongoing as to how this virus 
originated and spread.

C)	If you have fever and any kind of respiratory 
difficulty, call your doctor.

D)	Symptoms of COVID-19 can be similar to bad cold 
or the flu.

E)	A growing number of countries have introduced 
a series of measures slow the spread of the 
coronavirus.

63.	 English is everywhere. Approximately 380 million 
people speak it as their first language and perhaps 
600 million speak it as their second. A billion 
people are learning it and about a third of the 
world’s population is in some sense exposed to it. 
It is predicted that by 2050 the half of the world will 
be more or less proficient in it. Truly, the tongue 
spoken back in the 1300s only by the “low people” 
of England, as Robert of Gloucester put it at the 
time, has come a long way. ---- It is the language of 
international business, politics and diplomacy.

A)	English is an easy language to learn.

B)	 It is likely to lose its appeal soon as globalization 
requires a new global language.

C)	It is now the global language.

D)	People who learn English are usually those who 
travel a lot.

E)	He was against the lower classes using English.
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64-69. sorularda verilen İngilizce cümleye 
anlamca en yakın Türkçe cümleyi bulunuz.

64.	 Ten years ago there was not enough electricity 
available in the region to support the extraordinary 
growth we have experienced over the last two 
years.

A)	Son iki yılda gözlediğimiz hızlı büyümeyi 
destekleyecek kadar elektrik, son on yıl içinde bile 
üretilmemişti.

B)	Son iki yılda gördüğümüz muazzam büyümeyi 
desteklemek için on yıl öncesinde bölgede yeterli 
elektrik bulunması gerekiyordu.

C)	On yıl önce, bölgede son iki yılda yasadığımız 
olağanüstü büyümeyi destekleyecek yeterli elektrik 
mevcut değildi.

D)	On yıl öncesi gibi, son iki yılda görülen olağanüstü 
büyümeyi desteklemeye yetecek elektrik yoktu.

E)	On yıl önce bölgede elektrik bulunmadığı için 
son iki yıldan beri görülen muazzam büyümeyi 
desteklemek çok zor oldu.

65.	 Pluto, which was discovered in 1930, has an 
orbit which is much more elliptical than the other 
planetary orbits.

A)	1930’da keşfedilen Plüton, diğer gezegen 
yörüngelerinden çok daha oval olan bir yörüngeye 
sahiptir.

B)	Plüton 1930’da keşfedilmiş ve diğer gezegenlerin 
yörüngelerinden biraz daha oval bir yörüngede 
hareket ettiği anlaşılmıştır.

C)	Yörüngesi, diğer gezegenlerin yörüngelerine kıyasla 
oldukça oval olan Plüton, 1930’da keşfedilmiştir.

D)	Plüton’un yörüngesinin diğer gezegenlerin 
yörüngelerinden daha oval olduğu, 1930’da 
keşfedilmiştir.

E)	Plüton 1930’da keşfedildiğinde, yörüngesinin diğer 
gezegenlere göre daha oval olduğu görülmüştür.

66.	 Even though a number of measures have been 
taken to prevent arms trafficking, the problem has 
not been solved.

A)	Alınan tüm önlemler, silah kaçakçılığını 
engellemede ve sorunu kökten çözümlemede 
yetersiz kalmıştır.

B)	Silah kaçakçılığını engellemek için pek çok önlem 
alınması gerekmektedir.

C)	Alınan çeşitli önlemler sonucu silah kaçakçılığı 
azalmışsa da sorun tamamen çözümlenmiş değildir.

D)	Silah kaçakçılığını engellemek için bir dizi önlem 
alınmasına rağmen, sorun çözümlenmiş değildir.

E)	Silah kaçakçılığına karşı alınan bir dizi önleme 
rağmen sorunun çözümü mümkün değildir.

67.	 All through the 1970s, many industrial countries 
experienced a serious energy crisis owing to rapid 
increase in oil prices.

A)	1970’li yıllarda petrol fiyatlarındaki artış en çok 
sanayi ülkelerinde enerji bunalımı yarattı.

B)	 1970’lerde sanayi ülkelerinde yaşanan ciddi enerji 
bunalımına petrol fiyatlarındaki hızlı artış yol 
açmıştır.

C)	1970’ler boyunca pek çok sanayi ülkesi petrol 
fiyatlarındaki hızlı artış nedeniyle ciddi bir enerji 
bunalımı yaşadı.

D)	Sanayi ülkelerinde 1970’lerde yaşanan enerji 
bunalımının temel nedeni petrol fiyatlarındaki sürekli 
değişiklik idi.

E)	 1970’li yıllarda petrol fiyatlarındaki ani değişiklikle 
sanayi ülkelerini ciddi bir enerji bunalımına 
sürükledi.
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68.	 UNESCO hopes to train 69 million new teachers by 
2030 so that everyone can go to school, because 
sadly, 264 million children in the world today are 
not in school.

A)	Öğretmen yetersizliğinden okula gidemeyen 264 
milyon çocuk okula gidebilsin diye, UNESCO 2030’a 
kadar 69 milyon öğretmen yetiştirmeyi planlıyor.

B)	Dünyadaki öğretmen yetersizliğini ortadan 
kaldırıp, okula gitmeyen 264 milyon çocuğu okullu 
yapabilmek için UNESCO 2030’a kadar 69 milyon 
yeni öğretmen yetiştirmeyi umut ediyor.

C)	Bugün dünyada ne yazık ki okula gidemeyen 264 
milyon çocuk olduğundan, herkes okula gidebilsin 
diye UNESCO 2030’a kadar 69 milyon yeni 
öğretmen yetiştirmeyi umut ediyor.

D)	2030’a kadar 69 milyon yeni öğretmen yetiştirmeyi 
umut eden UNESCO bu şekilde okula gidemeyen 
264 milyon çocuğun okula gidebilmesini 
sağlayacak.

E)	Ne yazık ki okula devam edemeyen 264 milyon 
çocuk UNESCO’nun yetiştireceği 69 milyon yeni 
öğretmen sayesinde okula gidecek.

69.	 It was Johannes Gutenberg’s invention, which 
made possible to use the printing press.

A)	 Johannes Gutenberg matbaanın kullanılmasını 
sağlayan bir buluş yapmıştır.

B)	Matbaanın kullanılması Johannes Gutenberg’in 
buluşu ile gerçekleşmiştir.

C)	Matbaanın bulunuşu Johannes Gutenberg’in 
düşüncesinden kaynaklandı.

D)	Matbaanın buluşunu gerçekleştiren kişi Johannes 
Gutenberg’di.

E)	Matbaanın kullanımına olanak veren Johannes 
Gutenberg’in buluşuydu.

70-75. sorularda verilen Türkçe cümleye anlamca 
en yakın İngilizce cümleyi bulunuz.

70.	 Yabancı piyasaları gözlemlemek döviz fiyatlarındaki 
dalgalanmayı anlamak için yeterlidir.

A)	 If you want to understand why foreign exchange 
rates fluctuate, It will be enough for you to observe 
the foreign markets.

B)	Observing the foreign markets will help you to 
understand the foreign exchange rates fluctuating.

C)	Observing the foreign markets is enough to 
understand the fluctuating in exchange rates.

D)	Anybody who wants to understand why foreign 
exchange rates fluctuate should observe the foreign 
markets.

E)	You will understand why foreign exchange rates 
fluctuate when you observe the foreign markets.

71.	 Ebeveynlerin tutumuyla birlikte çevrenin de 
çocuğun gelişiminde büyük rol oynadığına inanılır.

A)	Most people believe that the child is under the 
influence of the attitudes of both the parents and the 
social environment.

B)	Not only the attitude of the mother and father but 
also the social environment greatly affects the 
child’s development.

C)	It is believed by most people that the attitude of the 
child depends heavily on the social environment as 
well as on the parents.

D)	Most people believe that in order for a child to 
develop properly, the attitudes of the parents and 
the environment should be in harmony.

E)	 It is believed that with the attitudes of the parents, 
the social environment also has a great role on the 
child’s development.
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72.	 Bu köprü projesinin amacı, hem kazaları oluşturan 
sebepleri ortadan kaldırmak, hem de trafik akışını 
düzenli tutmaktır.

A)	This bridge project not only eliminates the cause of 
such accidents but also keeps the traffic moving at 
a steady rate.

B)	Purpose of this bridge project is not to eliminate the 
cause of accidents but to keep traffic moving at a 
steady rate.

C)	The purpose of this bridge project is both to 
eliminate the cause of accidents and to keep traffic 
moving at a steady rate.

D)	This bridge project aims to eliminate the cause of 
accidents and keep the traffic moving at a steady 
rate.

E)	This bridge project aims to keep the traffic moving 
at a steady rate while eliminating the cause of 
accidents.

73.	 Atıkların azaltılması sürecinde en düşük maliyete 
ve en üst düzeyde faydaya ulaşılması hedefleniyor.

A)	 It is aimed to reach the highest level of benefits and 
the lowest cost in the process of reducing waste.

B)	The goal of reaching the highest level of benefits 
and the lowest cost is to reduce the waste.

C)	Their target is to reduce the waste which is on the 
highest level of benefits and the lowest cost.

D)	It is supposed to reach the highest level of benefits 
and the lowest cost in the process of waste 
reducing.

E)	 It is believed to reach the highest level and lowest 
cost in the process of reducing waste.

74.	 Yunanistan hükümeti vize uygulamasını kaldırır 
kaldırmaz, çok fazla kişi bu ülkeye seyahat etmeye 
başladı.

A)	An increasing number of people started to travel 
that country before the Greece government 
removed visa application.

B)	Now, because there is no visa application to enter 
the country, following the Greece government 
removing, a lot of people are visiting there.

C)	As soon as the Greece government had removed 
visa application, many more people started to travel 
this country.

D)	Whether the Greece government decides to remove 
visa application or not, an increasing number of 
people will start to travel there.

E)	Following the Greece government removing visa 
application, more and more people will start to travel 
there.

75.	 Yeryüzünün en rüzgarlı yeri olan Antarktika, çetin 
hava koşullarına iyi adapte olmuş pek çok hayvana 
ev sahipliği yapar.

A)	Antarctica, the windiest place on Earth, hosts many 
animals which are well adapted to harsh weather 
conditions.

B)	Antarctica, which is the windiest place on Earth, 
hosts many well adapted animals coping with the 
freezing conditions.

C)	Antarctica hosts many animals well adapted to 
the harsh conditions although it is the windiest 
continent.

D)	Antarctica, which hosts well adapted animals to 
handle the harsh conditions, is the windiest place 
on Earth.

E)	The windiest place on Earth, Antarctica, hosts 
many well adapted animals living in the harshest 
conditions.
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76-80. sorularda cümleler sırasıyla okunduğunda 
parçanın anlam bütünlüğünü bozan cümleyi 
bulunuz.

76.	 (I) True stories may be the inspiration for a poem or 
song lyrics. It may be a deep suffering, a love story, an 
episode, or a nation’s tragedy that lies behind.  
(II) A song writer, a poet or any writer may make up the 
lyrics. (III) The well-known Turkish folk song Ormancı 
(The Forest Guard) is based on a true story that took 
place in an Anatolian village. (IV) İstiklal Marşı (Turkish 
National Anthem) has an unprecedented heroic story 
behind. (V) Mehmet Akif’s quote after refusing to 
get the winner’s award, tells us how much a nation 
had suffered before they became the subject to this 
composition “May Allah protect this nation from having 
to write another national anthem.”

A) I	 B) II	 C) III	 D) IV	 E) V

77.	 (I) The Maya civilization was one of the grandest in 
the history of the world. (II) Their ritual calendar was 
composed of only 260 days. (III) They occupied a vast 
geographic area in Central and South America until 
1500 AD. (IV) The Maya civilization was extremely 
advanced in mathematics and archaeology. (V) They 
built awe-inspiring temples, pyramids and cities.

A) I	 B) II	 C) III	 D) IV	 E) V

78.	 (I) The global climate is changing as it always has; 
species will go extinct as they always have other 
species will prosper. (II) Humans may be influencing 
the change, but they didn’t create the change. (III) 
Global warming is as dynamic as many other earthly 
processes. (IV) Of course, it is important to monitor 
which changes are being influenced by humans, but it 
must be remembered that change is natural, and Earth 
will continue to change no matter what humans may or 
may not do. (V) Humans as a species must accept this, 
and figure out how best to adapt to the change, not 
how to control it.

A) I	 B) II	 C) III	 D) IV	 E) V

79.	 (I) The Romantic Age is a term used to describe life 
and literature in England in the late eighteenth and 
early nineteenth centuries. (II) Many of the most 
important English writers of the period turned away 
from the values and ideas characteristic of the Age of 
Reason toward what they perceived as a more daring, 
individual and imaginative approach to both literature 
and life. (III) In general, they placed the individual 
rather than society, at the centre of their vision. (IV) 
The Industrial Revolution helped make England 
prosperous and powerful, but it involved exploitation 
of the workers. (V) They tended to be optimists who 
believed in the possibility of progress and improvement 
for humanity as well as for individuals.

A) I	 B) II	 C) III	 D) IV	 E) V

80.	 (I) There are now many different genres of video 
games in the world with amazing features and high 
quality. (II) The input device used to manipulate video 
games is called a game controller and varies across 
platforms. (III) For example, a controller might consist 
of only a button and a joystick, while another may 
feature a dozen buttons and one or more joysticks. 
(IV) Early personal computer games often needed a 
keyboard for gameplay, or more commonly, required 
the user to buy a separate joystick with at least one 
button. (V) Many modern computer games, however, 
allow or require the player to use a keyboard and a 
mouse simultaneously.

A) I	 B) II	 C) III	 D) IV	 E) V

TEST BİTTİ.
CEVAPLARINIZI KONTROL EDİNİZ.
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CEVAP ANAHTARI

İNGİLİZCE TESTİ

1. D 2. B 3. A 4. E 5. C 6. B 7. A 8. D 9. B 10. D

11. C 12. A 13. B 14. E 15. E 16. A 17. B 18. C 19. D 20. E

21. B 22. B 23. C 24. D 25. E 26. B 27. E 28. D 29. C 30. E

31. A 32. D 33. B 34. C 35. D 36. D 37. B 38. B 39. C 40. E

41. A 42. A 43. E 44. E 45. B 46. D 47. D 48. B 49. C 50. B

51. C 52. E 53. A 54. E 55. C 56. A 57. B 58. E 59. B 60. E

61. B 62. A 63. C 64. C 65. A 66. D 67. C 68. C 69. E 70. C

71. E 72. C 73. A 74. C 75. A 76. B 77. B 78. C 79. D 80. A


